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Sel AZES (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEH A 6,968,175 5,166,844 1,801,331

= 5,830
< 37,159
Al 6,925,186
TN MEXN 2 (Ut @A /LptEA) 3,041,666 2,034,756 1,006,910
ANEBEE 3,041,666 2,034,756 1,006,910
ANEEE 2,975,266 1,995, 146 980, 120
201 Let2d] 2,843,346 1,616,686 1,226,660
01 At 22l I 2,768,940 1,542,880 1,226,060
OFUHE =8 17,000 » 12569 » 128 25,500
OAlEg2t 500,000& * 603l 30,000
OANE JI5 22| 17,200
—&0a3a ¢ 100,000& * 404 4,000
— HOVEIOI = (6012]) ¢ 25,0003 = 80H 2,000
—0VD ¥ CD 7 ¢ 2,500& = 4004 1,000
— AL& Qg2 850,000& * 12& 10,200
OZ22& X ¢ 11,800
— XNXHE 2 113 6,0008 = 1508 » 12& 10,800
— JIEt 1,000,000& * 13| 1,000
OY= AAK '36.5 A5 wat
140,000,000& * 14 140,000
= MEEE Z2a(Tv,etd)
350,000,000& * 14 350,000
OFAM L AFEL (R, 88X )
200,000,000& * 14 200,000
OF2 AN3ss ¢H J42 M
10,000,000& * 2# 20,000
OJIESH(ES) M &85
50,000,000& = 14 50,000
O AZ2 dawA BHE HH
50,000,000& = 14 50,000
OJIEEE ME(ME) 100,000,000& * 14 100,000
OXZEH(IIELUZA) &8 B
30,000,000& * 14! 30,000
OlAE=E2E & T2 M
40,000,000& * 14l 40,000
OZ=Al Ol0IX EA(IESE S) EE
15,000,000& * 43| 60,000
OZEAMOE &1 50,000,000& = 14 50,000
Ogsta &2 50,000,000& * 14l 50,000
OAl tHgE ga= =3 MH
50,000,000& * 14l 50,000
OAclx s28d=E ME € S 200,000
—Za= A 20,000,000& * 5 100,000
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SN B
M FQAM AN EP(UUDDHT/AUHET)
Sel AZES (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
—ga=E &5 20,000,000 = 5€& 100,000
OUHEZA HEZWS(HAl) HEZZD
80,000 * 11004 = 12& 105,600
O&cHIoaE sy 2AH =4 & Az
gl 50,000,000 = 14! 50,000
OUHEANXNSE 223 =2 Z210H|
3,000,000& * 14004 = 9€ 378,000
OsSH2 22 B350 22 444,000
— TV 10,000,000& * 3 » 4= » 3& 360,000
— i &21
1,000,0008 = 7 % 4= » 3& 84,000
OsEHE WsSWE &1 93,000
— & Al XSS ASE0 & HoZD
4,000,000& * 4004 « 3E 48,000
—HEA HEUEALE ZD(HA, HEEE)
5,000,000& * 34 ~ 3E 45,000
OsENS 251 D&gs g8
10,000,000& = 23] 20,000
Os=sSE42 JIE E20HM &2
3,000,000 = 3HA * 2& 18,000
OsSENME UZA S 82T 2D
5,000,000& = 404 * 6 120,000
OsS4ES 8200 X e
10,000,000 = 1A 10,000
OsSHie 228 SI4 MR (LE85S)
55,000,000& * 14! 55,000
OsEHEIAAAS B 25
70,0003 * 4% = 33| 840
02 E22%H| 74,406 73,806 600
OATJEOIAH AIE 2
121,000 = 3500 ™ ~ 12& 50,820
O E82LIH S22
500,000& * 12& 6,000
Oe&E2H| SAldl 11,897
— S&kI|0| 140,000 = 204 280
— JtHiet 50,000& = 504 250
—SSAE S 148,000 = 60H 888
— HICI3tMI2t(A)
25,240,000 = 204 ~ 3/100 1,515
— HICI3t0I 2t (CH)
130,000,000 = 2CH = 3/100 7,800
— CIXIE 2t 2k 2,990,000& * 2CH = 3/100 180
—3oEs SE A 5,800,000 * 3/100 174
—HEszME 27,000,000 * 3/100 810
OAN&EZH B2 2,000
—JlMict EE = 1,000,000& = 14! 1,000
—CE2&H BE2 1,000,000 * 14! 1,000

-2 -




SN B
M FQAM AN EP(UUDDHT/AUHET)
chelr NEER CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANEEE YSALAE SXE2H|
50,933,350 * 3/100 1,529
ONBEE SSAAH JHAERE
60,0003 = 304 » 123 2,160
301 gt L= 4,320 7,560 A 3,240
09 SALAHIEAS 4,320 7,560 N 3,240
OE2UA S E2&SHI
0,000& = 69 = 3 « 23| 3,240
Os2dFINeAs A Ol
90,000& = 4% = 32 1,080
303 L&t 3 8,400 6,400 2,000
01 243 8,400 6,400 2,000
OERRE2A MY
1,000,000& » 371& * 23l 6,000
OAZE 229 gola  200,000& » 3Y ~ 43 2,400
307 glz2+ol & 84,200 78,200 6,000
02 QIZtE M AMHEE 57,200 57,200 0
OZ=FNAEHY S XN (EXE FH)
50,000,000& * 14l 50,000
Oet=I7EHY AFAXNE AY 22X 7,200
—&EAE UFANYNE A
2,000,000& = 141 = 80/100 1,600
—HHUZE=0SAE 2 ALY
2,000,000& = 141 = 80/100 1,600
—UBHAID 2 DSHM NHPHY A U D
FAY 5,000,000& * 1Al = 80/100 4,000
03 QIZtHNHE2HHEX 27,000 21,000 6,000
OS=2NREBHY FFAIXs 2HH(Exe
oH) 27,000,000& = 14 27,000
401 AIEHI L 201 10,000 0 10,000
01 A& Bl 10,000 0 10,000
Olg Eelg & 8x(ZdArs *2HE)
10,000,000& * 14 10,000
405 THabF S| 25,000 277,300 A 252,300
01 AL EFHSHI 25,000 277,300 A 252,300
ogsxg =38 2 25,000,000& =« 14 25,000
7O0ICIOE 288 ANEES 66,400 39,610 26,790
201 Let49] 66,400 39,610 26,790
01 At 22l 66,400 39,610 26,790
OSNS 28 ZE= ey & M
35,000,000& * 14 35,000
OSNS 2 AIEEE us 2AE
700,000& = 23] 1,400
OSNS JHEl e H 30,000,000& * 14! 30,000




SN B
M JESANG (L SSHEY /YY)
Sl ¥E HEE =X CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
HESIAI (LS I /YA ) 3,204,730 2,603,454 601,276
= 5,830
< 37,159
Al 3,161,741
HE BB =& 2,622,805 2,138,294 484,511
= 2,050
Al 2,620,755
HEMA 22| X 1,188,856 1,036,997 151,859
201 Let24d] 871,913 880,505 A 8,592
01 At 22l 44,800 43,500 1,300
OdtoldA olg=Z=2 08 44 2
31,200,000& * 14 31,200
OUIOIHHIOIA 2elZ2 08 Al 2
600,000& = 54 3,000
OMNLEEES T ZAZE 800,000&  29H 1,600
OHFFZANLAE SERANES JAINE
1,500,000 * 14 1,500
OdAZH dXZE 200,000 * 30CH 6,000
O&LHEH =&l 30,000& = 50CH 1,500
02 3322l 827,113 837,005 N9,892
O2HY HEIH AMER 231,000
-—=3 720,000& » 12& 8,640
—ANEE A2 930,000&  12& 11,160
— &), Mg, SHS
400,000 * 44318 = 128 211,200
O&&L AtEZ 35,800
— 28 OIHYAIE R
30,000& = 153/ = 12& 5,400
—H=s0a 332A0/It0] eIHUY AER
2,000,000& * 13/ & * 53] 10,000
—FUFB02BAME JEAER
100,000& = 17JH 4 = 12& 20,400
O#H™¥YZLel0l SMS &= (UMS)
1,000,000& = 12& 12,000
OAOIHAIRI SMS &&= 830,000&  12& 9,960
O2AHelS AL (LAN) H&EX
500,000& * 50 A& 2,500
OdsStE MEZ 200,000& = 12& 2,400
OANEZEISXHI(AAE SE§ERAES) 533,453
—olE/N |FXE=H 211,052
2-UeH(g2e)AAE 2 218
2,740,928,000& = 7/100 * 211,052
—A2ZEYN KRAZ=H 69,520
- 2-Lat(gRe)AAY 9 88
344,942,000& = 10/100 * 1.1 37,944




AR
PSS

X{ XH -
S =

- _ _ RE]
CEB - HS(3H) - HBAY - B Ol At o ﬁ}lgﬁ HRE2
- EXZCIAIAE DBMS 2 3=
230,284,000 = 12/100 = 1.1 30,398
HAEAMS AL 0| Al AE(UMS)(2018.98 W
M) 32,109,090& = 10/100 * 4/12 = 1.1 1,178
— 2O EH RX 24 248,381
STBOBHALEY 9 295
1,833,000,500& = 10/100 * 1.1 201,631
- AIOIHEGHUISAIAE 2 15
284,250,000€¢ = 12/100 = 1.1 37,521
- E2XM B8 (2018.28€ WH)
55,388,400 = 10/100 * 10/12 = 1.1 5,078
-HHMEY ASEEH (SHSVPN)(2018.
58 WH) 2,962
46,158,650 = 10/100 * 7/12 = 1.1
- R2HUERZA BoAIAE HA(2018.8E
=J}) 1,189
32,418,770 = 10/100 * 4/12 = 1.1
-~ HOYY YRBTZIY &3 2 GO0
30,0008 = 150CH 4,500
308 XX G SO0l & 145,943 144,492 1,451
10 2|2 S0 USHE A X AE A Y| 145,943 144,492 1,451
OL2-LigtAl A X221
17,063,000& = {14 17,063
OXXIEH 20|18 ®AZEH A2
90,732,000 * 14! 90,732
OXNEHAE2IAA (e~ X) SA 22
26,702,000 = 14! 26,702
OAZF MMolERAIAE SX 22
4,986,000& = 14 4,986
OXNLHBZSHEAAY HHAQAD 24
6,460,000& = 14 6,460
401 AlEHI 2L £ 0HY| 171,000 0 171,000
01 Al&H| 171,000 0 171,000
OX LA S H IS 171,000,000& * 14 171,000
HAMAXH B2 1,202,100 993,660 208,440
201 et Y| 161,600 180, 170 A 18,570
01 AP 22| d| 161,600 180, 170 A 18,570
OgREATEYNH 2L 161,600
—2NEHE 74,000 = 42004 31,080
— NS 2O A 250,000& = 28074 70,000
— 0|0l XIH#HE 510,000 = 5004 25,500
—sSg4a HE 510,000 = 2JH 1,020
— A} EHHE 500,000 = 5004 25,000
— AutoCAD MEAZE A 300,000 * 3004 9,000
207 I | 128,000 45,000 83,000




2N
X ZH -
L= B

el

HE - B (3H) - KISAY - BYS il HImEET
AN 2| 128,000 45,000 83,000
LA EOHAIAE A= 56,000,000& * 14 56,000
SSHZAAL 220l PE
20,000,000& = 14 20,000
LS S0l A8 uiA
52,000,000& * 14l 52,000
403 XIS E X201 & 110,000 172,490 A 62,490
02 SO 2SHHEHAHE X 2 E AL B 110,000 172,490 262,490
SSIBAAE CSHH(AERIX) WA
110,000,000 * 1CH 110,000
405 TtobFH S| 802,500 596,000 206,500
MU SEFSHI 802,500 596,000 206,500
SoE JIBHAIE SE M SSAAY A5
80,000,000& * 14 80,000
OHFEE SEAECXN uH
219,000,000& * 14| 219,000
OHFEE LTO HAHHl Wi
56,500,000& = 1CH 56,500
ORFMEAZSEXI(UPS) WAl
52,000,000& =« 1CH 52,000
OYRE HoEH 2 395,000
—daas 1,000,000 * 300CH 300,000
- 2LH 300,000& * 300CH 90,000
— Z2IE(5E9) 500,000& = 10CH 5,000
NAZEsS 54 19,031 27,486 A 8,455
201 ¢er24| 19,031 21,486 A2,455
01 At 2t 2/l 19,031 21,486 N2,455
OXNAEES WM
15,0003 = 233 = 157| 5,175
OZXAZFEs us 2AE
50,000& = 12Al12t = 15D| 9,000
OZF=Estusd MRESH
6,000& * 23 * 12& 1,656
OFEstuEsd A1E =44l 2,380
— ZelH =2
100,000& * 1CH = 23] = 50/100 100
—Z2H EYH 200,000& = 23| » 104 400
—ZFH =el
100,000 * 23CH = 33l * 20/100 1,380
—YIOEZIE g 500,000& =+ 1CH 500
SO s ZAME 820
— 12 ZALZ (4A12}) 730,000& » 1H 730
— O dl 90,000& * 1¥ 90
RISMEESSIBAIAREISIR 7,618 30, 151 A 22,533




2N

EZ LA
H: FESAMY (LSS /YY)
ool WN FPE =X CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
= 2,050
Al 5,568
201 24l 7,618 30, 151 A 22,533
= 2,050
Al 5,568
01 At 2t 2l 7,618 30, 151 A 22,533
OXXIEH BSINEHMS) ==& wH
7,617,050& = 14 7,618
= 2,050
Al 5,568
dEAMHA 2435t 205,200 50,000 155,200
201 ¢4l 5,200 0 5,200
01 At 22l 5,200 0 5,200
SIHOIHES AMAYE 2= BIRE S
250,000&  89H 2,000
OUHOIEEE ANAY 25 2JtaE S|
2,000,000& = 14 2,000
O=IOoIYH 2 A2F 2¢
1,200,000 * 14 1,200
207 O &l 200,000 50,000 150,000
02 & AR I 200,000 0 200,000
ORIOOIHEEZ AAE" 25
200,000,000& * 14 200,000
NeEEs =& 581,925 465, 160 116,765
= 3,780
< 37,159
Al 540,986
SHOIX 29 288,174 280, 186 7,988
201 Let24d] 17,774 63,536 A 45,762
02 =24l 17,774 63,536 N45,762
OWE ANMHA 201015 MHIA AMEZ
600,000& * 24 1,200
OME A MHIA BI2H0L0IE IS AHHIA AMER
350,000& * 204 700
OZHOoIXl Jls =t 2,500,000& = 23| 5,000
OAl EHO0IXI | XIE==(S/W)
140,500,000 * 10/100 = 1/12 = 1.1 1,288
OelgY Zole Ji2ed & Il 4,586
—d=2Eme 30,000& = 81A 2,430
—st=Zmel 66,000 * 262 1,716
—SZ0e S=H 220,000& = 2A 440
OZMHOIX ==& ooIdE
500,000& 1000 & 5,000
207 51 OH £ Hl 139,000 150,000 A 11,000




SN B
H: FESAMY (LSS /YY)
ool NHFEE =T CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 & AR I 139,000 150,000 A 11,000
OYMOIE S HE(SEHM) =&
25,000,000& * 20 4 50,000
OUHE =SHOIXIS DBEZMAHAAAHE =
26,000,000& * 14 26,000
OUe SHOIXNE HH AMAY 3=
63,000,000& * 14l 63,000
405 XHoHF S HI 131,400 66,650 64,750
01 At EZFH S 131,400 66,650 64,750
OZHOIXl HAEE =& X AAHY
25,000,000& * 14 25,000
oHe sHoXEe SEAECXN 54
76,000,000& * 14 76,000
OUe ZHOIXIS Tape & H Wi
20,000,000& = 1CH 20,000
OFQEE0ESAE daFH 2 10,400
—oA3s 1,000,000& = 8CH 8,000
—2LH 300,000& =« 8CH 2,400
ANBIEES MY =& 24,510 20,350 4,160
201 L4l 24,510 20,350 4,160
01 At 2t 2l 24,510 20,350 4,160
OANBES W=E WM
15,000& = 23& * 87| 2,760
OANREEs NE TAME
50,000& = 30Al2t = 87| 12,000
OFLUFZB0EANE ARESHI
6,000& = 17002 = 128 1,224
OFQEE0EANE A2 =4H| 5,490
— ZEH =2 100,000& = 17CH = 50/100 850
—ZEH EU 200,000& = 17CH 3,400
—dFH =d 100,000& = 62CH * 20/100 1,240
OAMgIZEEstus 2278 72¢
132,000& * 234 3,036
(Z)BE250t2 T2 22X 84 37,764 37,264 500
= 3,780
< 7,943
Al 26,041
307 21201 A 37,764 37,264 500
= 3,780
< 7,943
Al 26,041
02 IZtE S AIHE L 37,764 37,264 500
O&FEslolg Zz)gaek 29 37,764
— =Y 18,915,000& = 2% = 80/100 30,264
= 3,780




SN B
M. HESIAIY (L2 2N /BN )
ool NHFEE =T CERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 7,943
Al 18,541
—40 BE2 & g2 7,500,000& = 1Al 7,500
(E)ZE0I2A48 & 98,837 82,620 16,217
< 27,216
Al 71,621
101 21 214| 98,297 82,080 16,217
< 27,216
Al 71,081
04 JIZtHIZ22XNSES 98,297 82,080 16,217
OXSEB32 A B XIAFS 98,297
— ol 66,800 * 6YH x 225 90, 180
& 27,216
Al 62,964
— 40 B2 8,117,000& = 1A 8,117
301 YsrE A 540 540 0
09 HAIAHI EAZ 540 540 0
OXEAHEBSI2AN H2F 235Wx 4]
90,000& * 6YH * 13 540
dES0s2d 122,640 34,740 87,900
201 et 9| 13,700 12,700 1,000
01 AP 22| H| 3,000 2,000 1,000
OXHE30IE EES (WU, 2= S) M
1,500,000 = 1Al % 20 A& 3,000
02 232 4| 10,700 10,700 0
O&FES0IE EHOIXN |RANES
35,000,000 * 10/100 » 20HA = 1.1 7,700
OXES0IS EE2HE &EAEH £=4&H| 3,000
—2HEH,2LIH 22
100,000 = 113 = 200 A& 2,200
— T2y EY 200,000& * 23] * 2002 800
301 Lpte &2 10,440 10,440 0
09 HAIAHI BEAZ 10,440 10,440 0
O&dES0IE 2E/E s &It
90,000& * 2% % 63| * 204 A 2,160
OdBES0IE A 23 WR
90,000& * 79 % 2L % 20 A 2,520
O&dE 02 HAE FIF 4|
90,000& * 6Y % 3L * 20 A 3,240
O&EZsI0le Ex a2 A s &I
90,000& = 33| * 2L * 20 A 1,080
O&FES0IE AHANEE =IOt
90,000& * 2% % 4L % 20 A 1,440
307 giztol A 11,600 11,600 0




SN BREMA
H: FESAMY (LSS /YY)
@ XNFFEs =8 (cho &)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
02 It M AHE L 11,600 11,600 0
OZ=Es0r2 HWABH/FSH/ANHEEH S &It
=l 6,250,000& * 1Al = 80/100 5,000
OX Tt He =SHuHdl X
6,600,000& = 2JHA * 50/100 6,600
401 A& HIZ 201 Y] 80,000 0 80,000
01 A& HI 80,000 0 80,000
OAMWMALMICNIS0IS dEH 0B A
80,000,000& * 141 « 1JHA 80,000
405 XHoHF S HI 6,900 0 6,900
01 et EZFH S 6,900 0 6,900
QUL P (AMALHMTEHEF0IS)
2,000,000& = 1CH 2,000
OFI PU(AWMAHAICHBF0IS) 4,900
—SANE22 HEIH 350,000& = 404 1,400
— a2 o% 250,000& = 104! 2,500
— 22 Hol2 & 24X 1,000,000& = 14 1,000
()3 Es0sdeLs 10,000 10,000 0
< 2,000
Al 8,000
307 21201 A 10,000 10,000 0
< 2,000
Al 8,000
02 ItFAAHE X 10,000 10,000 0
OXR&NeN X2 (XM, HAHY S)
5,000,000& * 2JH A 10,000
< 2,000
Al 8,000
SdAe (LSS dHH /Lot H) 569,306 418,945 150,361
shlzte] 569,306 418,945 150,361
Salzel 569,306 418,945 150,361
201 L4l 253,006 288,945 A 35,939
01 At 22l 8,000 12,500 A 4,500
OH#FMIIHSHE M= 1,000& * 1,500% 1,500
OSH8E, ML ARA IZBEFN OE 0l
& Xl 2,500,000 * 200 A 5,000
OuWsaEl & 2UEE SANES AJMME
1,500,000 * 14l 1,500
02 =24l 245,006 276,445 A 31,439
Od3AEZ 10,000,000& * 12& 120,000
O3NEESHUY AES 400,000& » 12& 4,800
(ORME=d Fu gl 300,000& = 12& 3,600




2N

>

S2ELA
HH: SUPO(LUDDHE /AT )
& saze
SA - ZE-B(EA) - NRAY - B S il
ONldssd Nex
21,000& = 1002l « 123 25,200
Ost&Es ArEZ 100,000& = 6CH 128 7,200
oulgts B2Y 6,276
—NHEBIHE(NHEEH) 300,000& » 12& 3,600
— A0l el g & 160,000& » 12& 1,920
—d3t= 63,000& = 12& 756
OSesHLs HEIH AER
82,500& = 234 = 128 1,980
O=E2E8 S3HE38 sldAER
2,500,000& = 23| 5,000
OA&ZEH ®Xdl 45,450
— M wEEIX 218,569,492 = 7/100 15,300
=FHALE 35,521,200& = 7/100 2,487
—SsHZS AAE 28,631,780 = 7/100 2,005
— ZAIMO Al AE 8,980,000& * 7/100 629
—NsasEX 7,425,000& * 7/100 520
- 337 7,840,800% = 7/100 549
— &30 256,942,400& = 7/100 17,986
—VOIP Y3t 50,593,950 = 7/100 3,542
—23d dFEX 34,737,350& = 7/100 2,432
OSHENYSNLY SN2+
17,000,000& * 14 17,000
O7UEzZ |FANE+ 5,500,000& * 14 5,500
OSHY 2T N2+
3,000,000& * 14l 3,000
AHatS S| 316,300
AR E S FH S 316,300
OIPA 3| 2 500,000& * 60CH 30,000
OCIDE 3t D] 2 40,000& = 50CH 2,000
OoZg gdozdy 2¢ 20,000,000& * 14! 20,000
ORVUMSHE SHALY 25
250,000,000& * 14| 250,000
Os4ZH SE2LEHE AIAE
6,600,000 * 14 6,600
Ouwdl =M Wi 7,700,000& = 14 7,700
HE2ATH(SET LA )(JIEH/IIE) 152,473
el 2l 44,097
ol 2| 44,097
jellala] 42,627
JIEHA 2 == 42,627
OAZEE T AdIH s2E B+ 42,627
= 2,985,250& * 1H » 128 35,823




2N
X ZH -
L= B
el

ro 02 Qo

CESPON,
Mooy (E2EAA)(IEH/IIE)
=2l

CEE O (BAH) - NRAY - B2 il
R EIFECEN=
9,246& * 38AIZ2F » 1 * 12&8 4,217
— HHZAYH| 130,000& » 1¥ = 128 1,560
— oot 4t
2,985,250 * 86% * 1/30 » 1&# = 12& 1,027
204 = 2 4= A H| 1,470 1,313
02 &= & xH| 1,470 1,313
OAZFEEH LINH 23 A3 2L
122,500 * 1Y = 12& 1,470
=11 108,376 108,376
=34l 108,376 108,376
201 LBt 9| 24,916 24,916
01 AtR 22l bl 24,916 24,916
o=sMaEX 2 15,000& * 198t A « 128 3,420
OEZuAadl 7,000 * 64 x 199 x 128 9,576
Odbte4=2 100,000 = 12& 1,200
OALFAR =T AHAFLH] 50,000& * 12& 600
O =464 8,980
—Z2A(AE) 2| 750,000& = 1CH 750
— T E2lED| 22l 100,000 = 5CH = 50/100 250
— S A EY 200,000& * 53 = 10H 1,000
—D2HI(EY) EY
200,000& * 53 = 504 5,000
—T2IHII(EH) EY
200,000& = 53] = 104 1,000
—PC %2l 100,000 = 19CH = 20/100 380
— J|lEF==2lH] 50,000& = 12& 600
OJIEF AR ESHI 5,000& = 19¥ = 128 1,140
202 04 d| 78,660 78,660
01 2L Y] 78,660 78,660
EEHAA SR2FX Y| 78,660
— ZLH O B 20,000& » 199 * 12 « 12& 54,720
— 22/ 04 Hl 90,000 » 19Y = 14 23,940
203 ¥R =&Y 3,600 3,600
04 ENSHELR=XH| 3,600 3,600
ORNM2gIRF&Y| 300,000& = 12& 3,600
204 &R = A H| 1,200 1,200
01 MR- AY| 1,200 1,200
QAMIZAR LAY (EES T AAZ)
100,000& * 1¥ = 12& 1,200




